
+

𝑣௜ = 10
𝑚

𝑠
⎯⎯

5m

𝑣 =
𝑑

𝑡
⎯⎯

𝑑 = 𝑣𝑡
𝑑 = 10(1.01)
𝑑 = 10.1𝑚

𝑣 = 0
𝑚

𝑠
⎯⎯

∆𝑑 = 𝑑௙ − 𝑑௜

∆𝑑 = 0 − 5
∆𝑑 = −5𝑚

𝑑 = ?  10.1𝑚

𝑣௜ = 10
𝑚

𝑠
⎯⎯

𝑣 = 𝑣௜ + 𝑎𝑡
𝑣 = 𝑎𝑡
𝑣 = (−9.8)(1.01)

𝑣 = −9.9 
𝑚

𝑠
⎯⎯

𝑣 = 10

𝑣 = −9.9 

𝑣௥ = 14.1

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

             𝑐 = ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 

             𝑐 = ඥ9.9ଶ + 10ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

                  𝑐 = 14.1
𝑚

𝑠
⎯⎯

𝜃 = 44.7௢

𝑡𝑎𝑛𝜃 =
𝑜

𝑎
⎯⎯

       θ = tanିଵ ቆ
9.9

10
⎯⎯⎯ቇ

       𝜃 = 44.7௢

𝑇𝑖𝑚𝑒 𝑖𝑠 𝑡ℎ𝑒 𝐿𝑖𝑛𝑘 𝐵𝑒𝑡𝑤𝑒𝑒𝑛 𝑥 𝑎𝑛𝑑 𝑦, 𝐺𝑎𝑙𝑖𝑙𝑒𝑜

𝑔 = −9.8
𝑚

𝑠ଶ⎯⎯

5m

Down

∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

∆𝑑 =
1

2
⎯⎯𝑎𝑡ଶ

   𝑡 = ඨ
2𝑑

𝑎
⎯⎯⎯

⎯⎯⎯
 

    𝑡 = ඨ
2(−5)

−9.8
⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯
 

    𝑡 = 1.01𝑠𝑇𝑖𝑚𝑒 𝑡𝑜 𝐹𝑎𝑙𝑙 = 1.01𝑠

Over

𝑣௙ = −9.9

𝑡 = ? 1.01

∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

∆𝑑 = 𝑣௜𝑡

;  𝑎 = 0

𝑇ℎ𝑒 𝑟𝑒𝑠𝑢𝑙𝑡𝑎𝑛𝑡 𝑣𝑒𝑙𝑜𝑐𝑖𝑡𝑦 𝑖𝑠 14.1
𝑚

𝑠
⎯⎯ 44.7௢ 𝑏𝑒𝑙𝑜𝑤 ℎ𝑜𝑟𝑖𝑧𝑜𝑛𝑡𝑎𝑙

𝑑

(0, 0)

𝑑 𝑣𝑠 𝑡

𝑑 = 10𝑡

ℎ

(10.1, 0)(0,0)

ℎ 𝑣𝑠 𝑑

ℎ = −0.049𝑑ଶ + 55

ℎ

𝑡
(1.01, 0)(0,0)

ℎ 𝑣𝑠 𝑡

ℎ = −4.9𝑡ଶ5

d

𝑑 = ? = 10.1𝑚

𝑡

ℎ(𝑡) = −4.9𝑡ଶ + 5

ℎ(𝑑) = −4.9 ቆ
𝑑

10
⎯⎯⎯ቇ

ଶ

+ 5

ℎ(𝑑) = −0.049𝑑ଶ + 5

𝑡 =
𝑑

𝑣
⎯⎯

𝑡 =
𝑑

10
⎯⎯⎯

Last

5m

𝑎௫ = 0

Equal Horizontal Distances

Greater
Vertical
Distances

𝑎௬ = −9.8
𝑚

𝑠ଶ⎯⎯

𝑣௫

(0, 0)

𝑣௫ 𝑣𝑠 𝑡

𝑣௫ = 10

𝑡

10

𝑣௬

𝑡

(1.01, −9.9)

(0,0)

𝑣௬ 𝑣𝑠 𝑡

𝑚 = 𝑎 = −9.8 

Obviously!

𝑣 = −9.8𝑡

Over

Logic

Pre Calc 12

𝑣 = −9.9

OR ℎ =
𝑎

𝑐𝑜𝑠𝜃
⎯⎯⎯⎯

P11 - 2.7 - Ball Thrown Straight Out from Building Notes
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